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[=Civa KEA 1stRound | 2nd Round TOTAL
1 KR ZFE R K=F 287 281 568
2 I KE 294 297 591
3 RS KE 295 299 594
4 KFRIKE 295 300 595
5 REFE K E 299 300 599
6 IEEKRE 297 302 599
7 R ZERKFE 313 309 622
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Bl B A G.TOTAL 568 JIEAL 1
K4 FE out in total out in total
KIGEREA 4 0 0
AR 4 41 35 76 % 0
TRFEF 4 36 36 12 36 34 70
FELZRA 3 38 34 12 33 36 69
TRER 3 35 34 69 34 38 72
FINKFH 3 0 36 34 70
INFRE 3 38 36 74 37 35 72 %
1st Total 287 2nd Total 281
I AN G.TOTAL 591 [Xfva 2
K4 FIF out in total out in total
BHFHE 4 42 35 77 0
SV RS 4 38 36 74 42 39 81
AR R AR ER 3 0 39 35 74
NNFEZ 3 35 34 69 46 36 82 %
BHEE 3 0 34 38 12
BWEEE 2 38 41 79 X 0
L SR 2 36 38 74 36 34 70
1st Total 294 2nd Total 297




FEEL KT G.TOTAL 594 JIEfL 3
K4 FE out in total out in total
FETXK 4 38 35 73 36 38 74
fif] FH A 188 4 39 39 78 % 0
ARAH 4 35 39 74 38 38 76
BRI R 3 40 37 77 38 40 78 X
EAREE 2 0 0
Ll 2 0 36 39 75
T EMK 1 35 36 71 35 39 74
1st Total 295 2nd Total 299
KFFIKZF G.TOTAL 595 [[Xfva 4
K% FIF out in total out in total
T HR— 3 38 38 76 40 38 78 %
&=l 3 38 39 77 3% 0
K H 2 33 36 69 39 36 75
% HiEAE 2 36 39 75 37 33 70
wZIRHHE 2 37 38 75 37 40 77
IEAEH 2 0 0
T RIEK 2 0 40 38 78
1st Total 295 2nd Total 300




EIpip e G.TOTAL 599 JE{T 5
K4 =3 out in total out in total
AR 4 0 0
ZaA7R-THKRY 3 0 0
AE R 3 38 38 76 41 36 77
FURARE 3 41 38 79 % 38 39 77 3%
L e iE 3 39 34 73 38 36 74
=i E 2 34 41 75 3b 38 73
EE{R 1 40 35 75 39 37 76
1st Total 299 2nd Total 300
Y Ap EE K G.TOTAL 599 [EEiva 6
K% FF out in total out in total
a8 4 42 42 84 % 0
EARKIE 4 37 35 12 41 41 82 X
<~ W 4 0 0
TE—EBR 3 36 33 69 38 36 74
ELt&E& 3 0 36 40 76
FREIKE 2 39 42 81 36 37 73
IINFRIRER 1 41 34 75 39 40 79
1st Total 297 2nd Total 302




B 78 R A G.TOTAL 622 NEfiz 7
K4 FIF out in total out in total
fEBER ER 4 0 42 38 80 X
EAE 4 42 39 81 41 35 76
PRI K BB 4 47 38 85 X
AN 7] 3 39 41 80
FMH=EZE 2 36 40 76 42 38 80
i HH ) o2 1 0 41 36 77
HEFFER 1 37 39 76 38 38 76
1st Total 313 2nd Total 309




